RDLLCD LINEAR SOLUTIONS YOUR WAY

2024-05-17, 06.55.50

Side Mounted Grease Nipple

Compatible with Linear Rail SBI.

When using a side grease nipple with SBI FL or FLL, you
also need to use one or two FS nipple connectors,
depending on the SBI size. See table below for details.

Dimensions in mm.

a6h

Port sizes for grease nipple

[Port size
Side

Front

SB1 S H4 L

SR J0 L LY

(™ 5B1 25 M i

- 58130 [ ™

S0 15-28 FL/FLL side groase fitting 581 5L side grease fitting mn e b
Criquing one FS nipphe connedlon S0 4% PT Vv [
58155 PT V8 FT Ve
SBi&s PT VS PT V8

B30 L PLL L] Had

SB1 26 FLIFLL H

5B1 30 FLFLL M6 HE

S81 35 FL/FLL g

SB 4% FLFLL PTVE W

-
-

-

58I 30=-45 FL/FLL 560 grease fitting 58155 and 65 FL/FLL s&d¢ greasa fitting
(requine two FS nipple connectorns)

Rollco Norge AS « Industrigata 6 « 3414 Lierstranda * Norge Tel. +47 32 84 00 34 « info@rollco.no « Org.nr 984 962 983 Page 1 of 2

Every care has been taken to ensure the accuracy of the information in this document, but we take no liability for any errors or omissions. We reserve the right to make changes without prior notice.



RDLLCD LINEAR SOLUTIONS YOUR WAY 2024-05-17, 06.55.50

General Data

Side mounted grease nipple

S1N S2N S3N S4N
%, _ 67 _ _ 966 . . 966 . 866
's
!

o | HEX.8 } HEX.8 14 HEX.10 R

& LIPS ® < e

= 1= 1o s

' <
M4x0.7P ' 4 7 ) Y

M4x0.7P M6X0.75P PT 1/8

FS nipple connector (for FL, FLL flange type only)

S1C S2C S4C
M4x0.7P 86 M4x0.7P _ 88 _ M6x0.75P = 99 —
| '
[[s] 7o) -
< < <o' 1 o b
T 1T N L] A _— v | o
o | ,x\‘ [ 0 P J d o ! ®
i 7 28 T i B Jilli -
Y ] ' M6x0.75P !
M4x0.7P M4x0.7P
SN SBI15 - M4x0.7P
S2N SBI20, SBI25 - M4x0.7P
S3N SBI30, SBI35, SBI45 - M6x0.75P
S4N SBI55, SBI65 - PT 1/8
S1C SBI15FL/FLL FS nipple connector for FL, FLL M4x0.7P
flange type only
S2C SBI20FL/FLL, SBI25FL/FLL FS nipple connector for FL, FLL M4x0.7P
flange type only
S4C SBI30FL/FLL, SBI35FL/FLL, FS nipple connector for FL, FLL M6x0.75P
SBI45FL/FLL flange type only. For size 30-45, two
pieces of FS nipple connector are
applied.
Rollco Norge AS « Industrigata 6 « 3414 Lierstranda * Norge Tel. +47 32 84 00 34 « info@rollco.no « Org.nr 984 962 983 Page 2 of 2

Every care has been taken to ensure the accuracy of the information in this document, but we take no liability for any errors or omissions. We reserve the right to make changes without prior notice.



